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Review the Gaussian Elimination Algorithm

on the Excel spreadsheet

Coefficient matrix

Constant vector

“Augmented” coefficient matrix

File:  GaussianExample.xlsx
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Notice that coefficient

matrix now has an

“upper triangle” of

zeros.

The coefficient matrix,

with 1’s on the main

diagonal and zeros

everywhere else, is

called an 

identity

matrix.

When the coefficient matrix is an identity matrix,

the constant vector (to the right) contains the

solutions to the equations, as shown.
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Checking the solutions by substituting them back in

the equations:
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Excel spreadsheet
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Practios the Gaussian Eliminstion ethod
by Hand using 3 Calculator

Carrythe soluion along with fractons,
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Classical Application of 2-Dimensional Arrays

Solution of a Set of Linear Algebraic Equations

by the Method of Gaussian Elimination

First, illustrate the method with a simple example:
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Shorthand notation: coefficients & constants only

1230

4561

7881




image29.emf
29

Where from here with Gaussian Elimination?

You probably guessed it already!

Automate the Gaussian Elimination algorithm in VBA
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Where from here with Gaussian Elimination?

You probably guessed it already!

Automate the Gaussian Elimination algorithm in VBA
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Classical Application of 2-Dimensional Arrays

Solution of a Set of Linear Algebraic Equations

by the Method of Gaussian Elimination

First, illustrate the method with a simple example:



Shorthand notation: coefficients & constants only
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Classical Applioation of2 Dimensionsl Arrays.
Solution of 3 Set of Linear Algebraic Equations
by the Wethod of Gaussian Elimination
Firs, llustrate the method with a simple example:
5e25,235,-0
4xesn-05-1

7%, 5,28, 2-1

Shorthand notation: cosficients & constants only
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“Forward Pass” of the Method

1)  Normalize the “1,1 pivot” by dividing the

1

st

row by element 1,1

1230

4561

7881



In this case, the first

row is already

normalized, but that

won’t usually be the

case.
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“Forward Pass” of the Method

1)  Normalize the “1,1 pivot” by dividing the

     1st row by element 1,1





In this case, the first

row is already

normalized, but that

won’t usually be the

case.
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“ForwardPass" of the Method

1) Normalize the “1,1 pivot” by divicing the
1eirow by element1 1
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